3.5 Polynomial Problem Solving.notebook

Ex.) A rectangular garden with a length of (8-3a) m and width of (a+8) m
contains a square flower bed with ? <Séide Iingth of (2a+5) m. The rest of the
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garden is grass.
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a) Draw a diagram.
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b) Write i r the area of gra%' the garden.
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c) Expand and simplify the expression found above.
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d) Determine the area of grass if a =¢1.5)
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Ex.) The hypotenuse of a right triangle is (5x+5) cm and the lengths of the
other two sides are (4x+8) cm and (3x-5) cm.
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a) Form an equation to solve for x. Qa +b =C

(B + (3= (D)
(5%+3) | (D) (her) + Br-N D= (SurS)NH4+9)

(Hx3) D0 [+ bivalH + WEB0NLS = 25+ 08125
2Yem 25{,{3’-\#‘6‘\ = 25+ + 25
(33 -50V 0
Fem ~1bx+D4=2
lox +B3= 23
b) Determine the length of each side of the triangle. % =-64
L'-;lcﬂ\"l"{cm\ZSCM’\J % -6
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